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Parallelogram:
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Rhombus:
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Rectangle:
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If a quadrilateral is a parallelogram, then
opposite angles are congruent
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If a quadrilateral is a parallelogram, then its
diagonals bisect each other
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Then...
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If a parallelogram is a rhombus, then its
diagonals are perpendicular bisectors of each
other.
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If a parallelogram is a rhombus, then each
diagonal bisects a pair of opposite angles
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If a parallelogram is a rectangle, then its
diagonals are congruent
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I parallelogram is
square, the properties of
both a rectangle and a
thombus apply.
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If a quadrilateral is a parallelogram, then its
opposite sides are congruent.
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Then...

mZA+m4B = 180
m4£B+m£C =180
m£C+msD =180
m4D+mZA = 180
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If a quadrilateral is a parallelogram, then its
consecutive angles are supplementary.




